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Problem	1	

Find	the	gain	for	the	following	cascaded	stage	topologies	and	draw	the	small	signal	

models.	(Assume	VA	=	∞)	

	

															 	
(a)																																																													(b)	

	

	

																				 	
(c)																																																													(d)	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	



Problem	2	

Consider	the	two	C-E	stages	below,	where	Vcc	=	2.5	V,	β	=	100,	and	Is	=	5x10	-16A.	

Perform	the	following:	

		

a. Bias	the	circuits	such	that	Ic	=	1mA	

b. How	much	will	VBE	change	if	VCC	is	increased	by	5%?	Which	circuit	is	less	

sensitive	to	variations	in	VCC	for	the	specific	values	that	you	chose	for	biasing	

the	circuits.		

c. Explain	the	mechanism	by	which	each	circuit	inhibits	changes	in	VBE	due	to	

variation	in	VCC.		

																													 	
(a)																																																													(b)	

	






















